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foKku (Science) 
okf"kZd ek/;fed ijh{kk] 2018 ds ijh{kkfFkZ;ksa ds fy,  

izFke ekWd VsLV 
 
 

  

 

 

 

 

 

¼lkekU; funsZ’k½¼lkekU; funsZ’k½¼lkekU; funsZ’k½¼lkekU; funsZ’k½    
General Instructions  

1 ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA   

 Candidates are required to give their answers in their own words as far as practicable.  

2 bl iz’ui= esa nks xzqi ‘A’ ,oa ‘B’ gSa ,oa nksuksa xzqiksa ds lHkh iz’uksa dk mÙkj nsuk vfuokZ gSA 

 i) xzqi xzqi xzqi xzqi A ¼HkkSfrdh ,oa jlk;u½ & 54 vad  
 ii) xzqi xzqi xzqi xzqi B ¼tho foKku½ & 26 vad  
 The question paper has two Groups ‘A’ and ‘B’ and it is compulsory to answer all the question of both the 

Groups.  

 i) Group ‘A’ (Physics and Chemistry) – 54 Marks  

 ii) Group ‘B’ (Biology) – 26 Marks  

3 izR;sd iz’u ds fy, fu/kkZfjr vad mlds lkeus vafdr gSaA  

 Marks allotted to each question are printed against it.  

4 iz'uksa ds mÙkj iz’uksa ds lkFk fn;s x; funsZ’k ds vkyksd esa gh fy[ksaA  

 Write the answers of questions in the context of instructions given with the questions.  

5 lHkh jQ dk;Z iz’u&lg&mÙkj iqfLrdk ds var esa fn, x, i`"Bksa ij gh dhft,] vU;= dgha ughaA  

 Do all rough work on the last pages of the Question-cum-Answer Booklet and nowhere else.  

6 dqN iz’uksa esa oSdfYid vUr% p;u fn;s x;s gSaA ,ssls iz’uksa esa vkidks fn;s x;s p;u esa ls dsoy 
,d iz’u gh djuk gSA  

 Internal options have been given for some questions. You are to attempt only one option in such questions.  

7 xqzi xqzi xqzi xqzi A ds iz’u la[;k 1 ls 10 rd vkSj xzqi B ds iz’u la[;k 27 ls 31 rd ^vfr y?kq mÙkjh;^ 
izdkj ds iz’u gSaA bu iz’uksa ds mÙkj izR;sd ,d 'kCn esa vFkok ,d okD; esa nsus gSaA  

 Question Nos. 1 to 10 of Group A and Question Nos. 27 to 31 of Group B are ‘very short answer’ type 

questions. Answer these questions in one word or in one sentence each.  

8 xqzi xqzi xqzi xqzi A ds iz’u la[;k 11 ls 18 vkSj xzqi B ds iz’u la[;k 32 ls 36 rd ^y?kq mÙkjh;&II^ 
izdkj ds iz’u g SaA bu iz’uksa ds mÙkj izR;sd 30 ls 40 'kCnksa esa nsus gSA  

 Question Nos. 11 to 18 of Group A and Question Nos. 32 to 36 of Group B are ‘short answer-II’ type 

questions. Answer  each one of these questions in 30 to 40 words.  

9 xqzi xqzi xqzi xqzi A ds iz’u la[;k 19 ls 24 vkSj xzqi B ds iz’u la[;k 37 ls 38 ^y?kq mÙkjh;&I^ izdkj ds 
iz’u gSaA bu iz’uksa ds mÙkj izR;sd 40 ls 50 'kCnksa esa nsus gSA 

 Question Nos. 19 to 24 of Group A and Question Nos. 37 to 38  Group B are ‘Long answer-I’ type questions. 

Answer these questions in 40 to 50 words.  

10 xqzi xqzi xqzi xqzi A ds iz’u la[;k 25 ls 26 vkSj xzqi B ds iz’u la[;k 39 ^nh?kZ mÙkjh;^ izdkj ds iz’u gSaA 
bu iz’uksa ds mÙkj izR;sd yxHkx 70 'kCnksa esa nsus gSA  

 Question Nos. 25 to 26 of Group A and Question Nos. 39 of Group B are ‘Long Answer’ type questions. 

Answer these questions in 70 words each.  

11 tgk¡ dgha Hkh fp= vko’;d gksa] mUgsa LoPNrk ds lkFk Li"V :i ls [khap,A  

 Draw neat and clean diagrams wherever necessary.  

Group –A (Physics & Chemistry) 
 xzqi&A  ¼HkkSfrdh ,oa jlk;u½ 

 

1 ,d xksyh; niZ.k dh oØrk f=T;k 20 lseh gSA mldh Qksdl nwjh D;k gksxh \ 1 

 The radius of curvature of a spherical mirror is 20cm. What will be its focal length ?   

2  2 2 22 2 .H O O H O+ → esa vfHkfØ;k ds izdkj dh igpku dhft,A  1 

 Identify the type of reaction in the 2 2 22 2 .H O O H O+ →    

3 ekuo us= esa fdl izdkj dk ysal jgrk gS \ 1 

 Which type of lens is in human eye ?   

dqy iz’uksa dh la[;k 
Total No. of Question  26+13=39 

i`"Bksa dh dqy la[;k % 
Total No. of Pages : 05 

le; 3 ?kaVs 
Time   3 Hours iw.kkZad %  

Full Marks :   80 
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4 
2CaOCl   dk izpfyr uke D;k gS \ 1 

 What is the common name of the compound  2CaOCl  ?  

5 ml ;qfDr dk uke crkosa tks fo|qr ÅtkZ dks ;kaf=d ÅtkZ esa cnyrh gSA  1 

 Name the device which converts electrical energy into mechanical energy ?   

6 nks /kkrqvksa ds uke crk,a ftudk xyukad vfr&fuEu gksrk gSA  1 

 Give name of two metals which have very low metting points.   

7 fdlh pqEcdh; {ks= esa fLFkr fo|qr /kkjkogh pkyd ij vkjksfir cy dc vf/kdre 
gksxk \ 

1 

 When will be the force acting on a current carrying conductor in a magnetic field 

maximum ?  

 

8 fuEufyf[kr esa ls dkSu ,sfYMgkbM gS \ 
Which one of the following is an Aldehyde ? 

1 

 
3 3, , ,CH COOH HCOH CH OH HCOOH   

9 dkSu lk ÅtkZ lzksr lkSj ÅtkZ ls O;qriu ugha gksrk gS \ 1 

 Which is not ultimately derived from sun’s energy ?   

 (a)  Hkwrkih; ÅtkZ (Wind energy)         (b)  iou ÅtkZ (Wind Energy)       
(c)  thok’eh bZa/ku (Fossil fuel            (d)  tSo ek=k  (Biomass)  

 

10 ,d rRo dk uke fyf[k, ftlds xq.k/keksaZ dh Hkfo";ok.kh esaMyhQ ds vkoÙkZ lkj.kh esa 
mldh fLFkfr ds vk/kkj ij dh x;h Fkh \ 

1 

 Name one elements whose properties were predicted on the basis of its position in 

Mendelev’s periodic table.   

 

11 dksbZ oLrq fdlh vory niZ.k ds oØrk dsUnz ,oa Qksdl ds chp j[kh x;h gSA cuus 
okys izfrfcEc dk fdj.k vkjs[k [khafp,A   

2 

 An object is placed between the centre of curvature and focus of a concave mirror. 

Draw a ray diagram of the image so formed.  

 

12 fuEu jklk;fud vfHkfØ;kvksa ds fy, larqfyr lehdj.k fyf[k, &  
(i) gkbMªkstu $  Dyksfju          gkbMªkstu  DyksjkbM  
(ii) lksfM;e $  ty              lksfM;e gkbMªksDlkbM $ gkbMªkstu 

2 

 Write the balanced equation for the following reactions.  

(i) Hydrogen + Chlorine                  Hydrogen chloride  

(ii) Sodium   +  Water                     Sodium hydroxide + hydrogen 
 

 

13 nwj n`f"V nks"k D;k gS \ blds D;k dkj.k gS \ bldk la’kks/ku fdl izdkj ds ysal ls 
laHko gS \  

2 

 What is long sightedness ? What are its reasons ? Which lens is used for its 

correction ?  

 

14 ,d Xokyk rkts nq/k esa csfdax lksMk feyrk gSA  
(i) ;g rktk nq/k ds pH ds eku dks 6 ls cnydj FkksM+k {kkjh; D;ksa cuk 

nsrk gS \ 
(ii) bl nq/k dks ngh cuus esa vf/kd le; D;ksa yxrk gS \    

2 

 A milkman adds a very small amount of baking soda to fresh milk.  

     (i) Why does it shifts the pH  of freshmilk from 6 to slightly alkaline ?   

    (ii)  Why does this milk takes a long time to set as curd ?  
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15 us= dh leatu {kerk ls D;k vfHkizk; gS \ 2 

 What is meant by power of accommodation of an eye ?   

16 vkWDlhdkjd D;k gS \ 2 

 What are Oxidising agent ?   

17 fdlesa vf/kd fo|qr ÅtkZ miHkqDr gksrh gS % 250W dk TV lsV tks ,d ?kaVs rd 
pyk;k tkrk gS vFkok 120 W dk fo|qr ghVj tks 10 feuV ds fy, pyk;k tkrk gSA 

2 

 Which uses more energy – a 250W TV set in 1 hr. Or a 120W toaster in 10 minute ?   

18 vk;fud ;kSfxdksa dk xyukad mPp D;ksa gksrk gS \ 2 

 Why do ionic compounds have high melting points ?   

19 5-0 lseh yEckbZ dk dksbZ fcEc 30 lseh oØrk f=T;k ds fdlh mÙky niZ.k ds lkeus 
20 lseh dh nwjh ij j[kk x;k gSA izfrfcEc dh fLFkfr ,oa lkbt Kkr dhft,A  

3 

 An object of 5.0cm in length is kept at a distance of 20cm before a convex mirror of 

radius of curvature of 30cm. Find out the position and size of the image.   

 

20 fp= dks nsf[k, vkSj fuEu iz’uksa dk mÙkj nhft, %& 
(i) gksusokyh vfHkfØ;k dk uke fyf[k,A  
(ii) vfHkfØ;k dk larqfyr lehdj.k fyf[k,A 
(iii) D;k bl vfHkfØ;k esa dksbZ vo{ksi Hkh curk gS \ ;fn gk¡] rks mldk 

uke] lw= ,oa jax fyf[k,A  
 
 
  

 
 
 

3 

 Observe the diagram and answer the following questions :  

(i) Write the name of reaction. 

(ii) Write the balanced equations of the reaction.  

(iii) Is any precipitate also formed in the reaction ? If yes, name it and write 

its colour.   

 

21 nks o`rkdkj dqaMyh A rFkk B ,d nwljs ds fudV fLFkr gS\ ;fn dqaMyh A esa fo|qr 
/kkjk esa dksbZ ifjorZu djsa rks D;k dqaMyh B esa dksbZ fo|qr /kkj izsfjr gksxh \ dkj.k 
fyf[k,A  

3 

 Two circular coils A and B are place closed to each other. If the current in the coil 

A is changed, coil same current be induced in the coil B ? Give reason.  

 

22 lkcqu ,oa viektZd esa vUrj fyf[k,A  3 

 Write difference between soap and detergent.   

23 mÙke bZa/ku fdls dgrs gSa \ 3 

 What is a good fuel ?   

24 esaMyho dh vkorZ lkj.kh dh nks fo’ks"krk,¡ ,oa nks folaxfr;ksa dk mYys[k dhft,A  3 

 Write down two characteristics and two anomalies of Mendelee’v periodic table.  
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25 Js.khØe la;kstu dks ifjHkkf"kr dhft,A ,d fo|qr ifjiFk esa rhu izfrjks/kd ftuds 

izfrjks/k Øe’k% 1 2,R R  rFkk 3R  gS] dks Js.khØe esa tksM+k x;k gSA fo|qr ifjiFk dk 
rqY; izfrjks/k Kkr dhft,A  

5 

 Define combination in series. Three resistors 1 2,R R   and 3R   are combined in circuit 

in series. Find out equivalent resistance of electric circuit.  
 

 

 vFkok OR  

 fo|qr tfu= D;k gS\ \ bldk fl)kUr fyf[k, rFkk bldh dk;Z fof/k dk lfp= 
o.kZu dhft,A  

 

 What is an Electric Generator ? Write its principle and describe its working with a 

labeled diagram.  

 

26 jklk;fud xq.k/keksaZ ds vk/kkj ij /kkrqvksa ,oa v/kkrqvksa esa ik¡p vUrj fyf[k,A  5 

 Write five differences between metal and non-metal on the basis of their chemical 

properties.  

 

 vFkok OR  

 fuEufyf[kr ;kSfxdksa dh lajpuk,¡ fpf=r fdft, %&  
Draw the structures of following compounds :- 

(i) ,FksukWbd vEy ethanoic acid  
(ii) czkseksisaVsu   Bromopentane  

(iii) C;wVsuksu   Butanone  

(iv) gsDlsuSy    Hexanal  

 

 Group – B (Biology)   xzqi& B ¼thofoKku½  

27 olk dk ogu 'kjhj ds vUnj fdlds ek/;e ls gksrk gS \ 1 

 Through which medium is the transport of fat brought about.   

28 es:jTtq vk/kkr esa fdu ladsrksa ds vkus esa O;o/kku gksxk \ 1 

 Which signals will get disrupted in case of spinal cord injury.   

29 ;h"V dksf’kdk fdl fof/k }kjk vySafxd tuu djrh gS \ 1 

 Through which process of asexual reproduction does a yeast cell reproduce ?   

30 euq"; dh dksf’kdk esa xq.klw=ksa dh la[;k D;k gS \ 1 

 What is the number of chromosomes in the cell of a human being ?   

31 tSo fofo/krk ds fof’k"V LFky D;k gS \ 1 

 What is the hotspots of biodiversity ?   

32 gekjs vek’; esa vEy dh D;k Hkwfedk gS \ 2 

 What is the role of acid in our stomach ?   

33 ,d dksf’kd ,oa cgqdksf’kd tho dh tuu i)fr esa D;k varj gS \ 2 

 What is the difference between reproduction in unicellular and multicellular 

organism ?  

 

34 D;k gksxk ;fn ge ,d iks"kh Lrj ds lHkh thoksa dks lekIr dj nsa \  2 

 What will happen on removing all the organism in a tropic level ?  
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35 D;k dkj.k gS fd dqN inkFkZ tSo fuEuuhdj.k gksrs gSa vkSj dqN vtSo fuEuhdj.k \ 2 

 Why are some substances biodegradable and some non-biodegradable ?   

36 tSo&Hkw&jlk;u pØ D;k gS \ dksbZ nks mi;qDr mnkgj.k nhft,A 2 

 What is bio-geo-chemical cycle ? Mention any two appropriate example.   

37 D;k ,d frryh vkSj pexknM+ ds i[kksa dks letkr vax dgk tk ldrk gS \ 3 

 Can the wing of a butterfly and the wing of a bat be considered homologous   

organs ?  

 

38 e`nk laj{k.k ds rhu mik; crk,¡A  3 

 Mention any 3 measure of soil conservation.   

39 euq"; esa nksgjk ifjlapj.k dh O;k[;k fdft,A  5 

 Describe double circulation in human being.   

 vFkok OR  

 fodkl dks izxfr ugha le>k tk ldrk gS] dSls \ O;k[;k dhft,A  5 

 Evolution should not be equated with progress, how ? explain.   

   

 


